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1. Solve the following equations

dy 2y
(a) dx x+y3x3
(b) y”+5 vy’ =xe"*sin(3x) (10%)
(€) (¢ —=2x) y" +2(1—x) ¥’ +2y=6( x*—2x) (10%)
(d) X3y —3x%y” + 6xy’ —6y=x"Inx (10%)

(e) y” —y =2x+1—4cos(x)+2e" (10%)

(10%)

2. Solve the following initial value problems

(a) y”+3y"+3y +y=30e7%; y(0)=3, y(0)=-3, y"(0)=—47 (10%)
(b) y’+y=sec’x) y(0)=4, y'(0)=2 (10%)

3. Use the Laplace transforms to solve the following problems

(a) t1—tly"+2y'+2y=6t y(0)=0, y(2)=0 (10%)
(b) v -5y’ +6y=r(t), r(t)=4e’ ifO<t<2andr(t)}=0 ift>2;
y(0)=1, y'(0)=—2 (10%)

4. Evaluate

) It &) dzdt (10%)
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